
 


05.  
 

 
1. 


A.  
 
 
 
                                                                
 
    : 
    :      
    :  

 
      

1. 100 



2. 100 



3. 100 


4. 


5. 



6. 
  

7. 

 

8. 
  

     9. : 
         = …… 
          = …… 

     







 
2. 0.24  0.144 
0.096 
 
A.      = 0.24 g 
               = 0.144 g 
                 = 0.096 g 
       

              = 
ఆĥ�Ÿజȴ	దƔవŪĸాȋ

సంȂగ	పİ�రš	దƔవŪĸాȋ
 x 100  

              = ଴.ଵସସ
଴.ଶସ

 x100  = ଵଶ
ଶ଴

 x 100  =12 x 5 =60% 
       

              = 
బď ĸాȴ	దƔవŪĸాȋ

సంȂగ	పİ�రš	దƔవŪĸాȋ
 x 100  

              = ଴.଴ଽ଺
଴.ଶସ

 x100  = ଼
ଶ଴

 x 100  = 8 x 5 = 40% 
3. 
O2  
O 

A. ‘O’  
     ‘O2’               
       
4. "H2 2H " 

  
A.  
    H2 2H . 
    H2  
    2H  
 

 

NAGA MURTHY- 9441786635   
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5. "CO  Co 
".
 
A.   
     "CO  Co 
    (i) CO 

    (ii) Co 

6.  H2O.  
      
A. H2O 
      
    (i)  
    (ii)  
    (iii)  
    (iv) =(2x1+1x16) =18u 
7. 

A. O2  
     2 2O2  
     N2  
     5 5N2  
8. MO. 
 
A. MO. 
    


 = 2 
 (M)   = 2 
 = 1 

     : 
M2      Cl1 
M1      Cl2 

     MCl2. 
9. Ca (OH)2 
Zn3(PO4)2. 
        
A. = Ca(OH)2 
        Ca = 2 
     = Zn3(PO4)2 

 (PO4)  = 3 

     : 
Ca2          (PO4)3 
Ca3          (PO4)2 

     Ca3(PO4)2. 
10. 
Chemical Name
  
       (a) common salt   
           (b) baking soda  
           (c) washing soda   
           (d) vinegar  

   

  NaCl 

  NaHCO3 

  Na2CO3 

  CH3COOH 

11. . 
     a) 0.5 N2 .  
     b) 0.5 N  
     c) 3.011 X 1023 N  
    d) 6.022 X 1023 N2 . 
A. (a) = 14 u 
          (N2) = 28 u 
         1  N2  = 28  
         0.5  N2  = 0.5 x 28 
     = 14  
    (b) = 14 u 
         1  N  = 14  
         0.5  N  = 0.5 x 14 
       = 7  
    (c) = 14 u 
         1  N  = 14  
         6.022x1023 N 
 = 14 
         3.011x1023 N 

 = ଷ.଴ଵଵ	௑	ଵ଴మయ

଺.଴ଶଶ	௑	ଵ଴మయ
 x14 =ଵ

ଶ
 x 14= 7 

    (d) = 14 u 
         1  N2  = 28  
         6.022x1023  N2     

                                                           = 28 
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12. 
 

a) 46 Na 
b) 8O2  
c) 0.1  

A. (a) Na = 23 u 
         Na  = 23 g 
         23 g Na 
 = 6.022x1023 

         46 g Na 

 =ସ଺
ଶଷ

 x 6.022x1023 
                                            = 2 x 6.022x1023 

                                                                  = 12.046 x 1023 

    (b) ‘O”  = 16 u 
         1 (O2) = 32 g 
         32 g O2   
                                            = 6.022x1023 

         8  g O2  

                                            = ଼
ଷଶ

 x 6.022x1023 

                                            = ଵ
ସ
 x 6.022x1023 

                                                                  = 1.5055 x 1023 

    (c) 1
 = 6.022x1023 

         0.1 
 = 0.6022x1023 

13. . 
a) 12 
b) 20 
c) 22 

A. (a) O2  = 32 g 
         32 O2  1 mole. 

         12 O2 ଵଶ
ଷଶ

 x1 
                                                           = 0.375 moles 
    (b) H2O 
         = (2x1+1x16)  
        = 2 + 16 
                                              = 18 g 
         18 g 1 mole. 

         20 g ଶ଴
ଵ଼

 x1= 1.11 moles 
    (c)  CO2 

         CO2 = (1x12+2x16)  
           = 12 + 32  = 44 g 

         44 g  CO2 1 mole. 

         22 g  CO2 ଶଶ
ସସ

 x1 
                                                            = 0.5 moles 
14. FeCl2  FeCl3 Fe 
 
A. 

     (i) FeCl2 1. 

Fe’  2.  
(2 ) 

     (ii) FeCl3 1. 
Fe’  3.  
(3 ) 

15.  (H2SO4)     
     (C6H12O6)  
A.      
  H 1 
  S 32 
  O 16 
  C 12 
     (i)  (H2SO4) 
             = 2x1 + 1x32 + 4x16 
              = 2 + 32 + 64 
             = 98  
     (ii) Glucose (C6H12O6)  
             = 6x12 + 12x1 + 6x16 
              = 72 + 12 + 96 
             = 180  
16. 100 100 


     (= 23u 
            = 56u) 
A. (a) Na  = 23 u 
          23 
= 6.022x1023  
          100  

                               = ଵ଴଴
ଶଷ

 x 6.022x1023  
            =4.35 x 6.022x1023 
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    (b) Fe = 56 u 
         56 
= 6.022x1023 
        100  

                                = ଵ଴଴
ହ଺

 x 6.022x1023  
            =1.79 x 6.022x1023 
        100 100 
 
19. 15.9 10.6 
14.2 
12.3 


A.                 = 15.9 g 
     = 10.6 g 
    =  26.5 g 
    =  14.2 g 
    =  12.3 g 
    =  26.5 g 
     
. 

. 
20. 112 









A.      CaO   +    CO2        CaCO3 
          = 112 g 
         = ‘x’ g 
         = 200 g 
    , 
    
. 
                 x   +   112  =  200  
                            x  =  200 – 112   
                            x  =  88 g 
     =  88 g. 
 
21. 


A. 






24. 

A.  
 
 
 
                                                                
 


17. . 
► 

      
▼ 
 NaCl NaOH NaNO3 Na2SO4 Na2CO3 Na3PO4 

 MgCl2 Mg(OH)2 Mg(NO3)2 MgSO4 MgCO3 Mg3(PO4)2 

 CaCl2 Ca(OH)2 Ca(NO3)2 CaSO4 CaCO3 Ca3(PO4)2 
 AlCl3 Al(OH)3 Al(NO3)3 Al2(SO4)3 Al2(CO3)3 AlPO4 

 NH4Cl NH4OH NH4NO3 (NH4)2SO4 (NH4)2CO3 (NH4)3PO4 

 

 



 
22. . 
 
     

1  O 16 g 
6.022 x 1023  

 

2  O2 32 g 
6.022 x 1023  

 

3  Na 23 g 
6.022 x 1023  

 

4  Na+
 23 g 

6.022 x 1023  
 

5  NaCl 38.5 g 
6.022 x 1023  
NaCl  

6  H2O 18 g 
6.022 x 1023  

 
 
 
 


NAGA MURTHY- 9441786635   
Contact at :   nagamurthysir@gmail.com    
Visit at :    ignitephysics.weebly.com 

 

mailto:nagamurthysir@gmail.com

